1.

1;]-2
S 2]
Eloﬂj\:' ;é_l] 1=
a = AABCY
Uielth AC 9 4
EO]:__-Q




o

U
%o

o
B

Nfo

oln

Lot

=
o )

A2, ot

@ Y 7o) 3717}

uhg ol

© H ®e] do|7t &



ohe B9 A2k FolA Aol AR ThE AL o5 Eaks
2L B 9 A

Ex]

o Stz © BRI
© ANag ® "En

® 3429 ® Atz

@ 27 @ 374 @ 471 @ 574 ® 674



4.

th& T80 AbttE]Eo Al AD = 10, BC = 20°]t}. AE :

2:3¢

D 13

ofl, EF ] Zo]=?

~-10~_

B —C

~

\\5—20—’//

@ 135 ® 14 @ 14.5 ® 15

=
oy



D 1:2:3 @ 2:4:9 ® 3:5:7

@ 5:8:12 ® 9:16:25



6.  the 179 AABC °l4 BC 9] & A M o] Histe] AM = BM =
CM ), A =( )" IA 2SS A golet




7. AABCOIA HI7F WAL ©, x9] 2717

A

O 20° @ 25° @ 30° @ 40° ® 50°



8. o2 I1"HAA H 1+ aABC 9] WAlolal, /BIC = 140° & o, zx 9]
I71E?

A
T

140°

O 70° @ 80° @ 90° @ 100° ® 110°



& OABCD & B3AAeItt. Bzt AC, BD 9] 23< O =t
g, H7] § &2 As BT ALE ALY
A D
(@)
B C
[1 ]
H7]

@ aOAB ¢} AOAD 9] Ho]7} e,
© AOAB = A0CD

© ¢(BAD = /BCD

® <ABO = /OBC

@ OA =0C

® AB=BC

® 90,66 ©0,0.6,e ® 9,0,6,e
® 0,606 ® ©,6,0,8



10. o3 I3 T2 AtthE]E ABCD ol A
BC = AB+ AD ¥ 4, /D o] 7|5 5}
™H?

D 110° @ 115° @ 120°

@ 125° ® 130°

50°

A

vs)

Q



JdHoA AABC £+ ADEF 7}

o
=

=

11.

OE AH AABC O ADEF 2 et &=

__01_
HK
ol

ol

ol

)

@ HSH7F1:1 o2



12. the 194 AD 7t /EAC 9] o]5EA0] 3, AACD = 9em? & ),
AABC 9] ¥ o]& oozt




13. o2 HPAPHS ABCD o4 AB 9] Zo|& F5tofet
- 16 T =<

\
8
/
P

T 1z Q



14.

thS I8 28 Ajthe]E ABCD oA ¥ AB 9] 32 M ol
Sta, A M oA A CD 9 A Wi A0 g E 2t gt
ACME = 18, AEMD = 6 ¥ w], Atcta]& ABCD 9] Y o]& 3t
oz},

e
Q



cm



16. t©hg 1A /BAD = /CBE = /ACF 9]
I, AB=7 BC=28, CA=9¢%Tt DE:
EF 29
D o9:8 @ 9:7 ®7:9
@ 8:7 ® 7:8




17. i% Y3 2ol AB//EF//CD©]i AB = 4cm , BF = 3cm
CD = 8cm , /DCF = 90° 2} & wf, oEFCD 9] Y o|=?

D
\
\\

A 8|crn
den !
\ !
\ /
B3eniF C

@ 20cm? @ 24cm? @ 32cm?

@ 36cm? ® 40cm?



18. & I”elA A D, E, F= 22 BC, CA, AB9| S50tk AADF
©] yo]7} 5cm? & o, oBDFC 2] Yol+&=?

A

=
Q

@ 120m2 @ 13(:m2 @ 14Cm2

@ 15cm? ® 16cm?



19.

Chs 1Y o] FPAPHY ABCD 9 &
31 A oA /D 9] o] FEA

BC ¢ ¥ A< i
o] ol e =24 B
et /B = 80° 2
shoiet,

B :
=

= Q




20. th2 19 AAZES ABCD oA /EBC = 28°Y u], LAPD 2] 7]

= stolg),
A D
E
P
Bl28 C




21. o a8 e AAZY ABCD o4 BC =a, DC =b, BD = ¢
o|th. CD flell dele] 2t H E & H A E oA tjzH4 BD <} AC
Aol W 4o vre 42 F, G2t & uf, EG4+EF S 4, b, c &
AH-&-5to] Lrerfj o2t

A D
E
E
G
B C




22, o8 1T} ol WHAMY ABCD $1], ¥ AD £ H

[e)
719 ADE ¢t ¥ CD & &-f5t= 4443 CDF & 13t /AB

130° ¥ o, Z/ABF 9] 27]& 5ot

g

rr

o
2

&=



23. o3 2™ 22 A ABCD oA EG 9t HF 7H A2 Zzto =

Rt DG = 5, HF = 10 4 o, EG o] o1& Fstefe),

A H p
E

G
Bl C



24.

LABE = LACD, (BAE

- <H 7> = 51
2 = 8 7 9 & 4‘
Al e A
=7
[11]
H7]
@ AABC ¢ AAED © AAEF o ADFC
© AAFD ¢ ACFB ® AABF o AADE
@ AABC ¢ AADC ® AABE ¢ AACD

0.6 0206 06,6 ®®e6e 006



25. TS 1904 AABC ADCE®] 1,  CE= BE 9] 9ith. AB =
8cm, BC = 6cm, CE = 9em ¥ W), DF 2] Zo]=?

@ 6cm @ 6.8cm @ 7.2cm

@ 8cm ® 8.2cm



